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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
1 100kN/m##8 %% 1.00{0.00 ~ 250 139.10| 3m%x#B 25 = Kad = = —| 100kN/mM%#2Z % 1.00{ 11.38 ~ 32.00 139.10| 3m%#B 25 =l ~ - - =
s 1.00] 2.50 ~ 10.28 100.00f Z=hkl9t+ |0.00 ~ 10.28] 2.90 14.67 s 1.00f 500 ~ 11.38 100.00| =hkl4t+ | 5.00 ~ 32.00f 2.90 14.67
9 100kN/m##8 %% 1.00{ 0.00 ~ 2.86 145.29| 3m%x#B 25 = Kad = = —| 100kN/mM%#2Z % 1.00{ 11.02 ~ 36.35 145.29| 3m%x#B 25 =l ~ - - =
s 1.00] 2.86 ~ 10.65 100.00f Z=hki4t |0.00 ~ 10.65| 2.95 14.93 s 1.00f 500 ~ 11.02 100.00f Zhl4t | 5.00 ~ 36.35| 2.95 14.93
3 100kN/m##8 %% 1.00{ 0.00 ~ 246 138.58| 3m%x 825 = Kad = = —| 100kN/mM%#2Z % 1.00{ 11.60 ~ 36.00 138.58| 3m%x#B 25 =l ~ - - =
s 1.00]2.46 ~ 10.25 100.00f Z=hkl4t | 0.00 ~ 10.25| 2.88 14.53 s 1.00f 500 ~ 11.60 100.00f =hkl4t+ | 5.00 ~ 36.00| 2.88 14.53
4 100kN/m##8 %% 1.00{0.00 ~ 2.73 142.99| 3m%*x#B2 5 = Kad = = —| 100kN/mM%#2 % % 1.00{ 11.19 ~ 35.80 142.99| 3m%EF{B2 5 =l ~ - - =
s 1.00] 2.73 ~ 10.51 100.00f Z=hki4t | 0.00 ~ 10.51] 2.93 14.80 s 1.00f 500 ~ 11.19 100.00| Zhkl4+ | 5.00 ~ 3580 2.93 14.80
5 100kN/m##8 %% 1.00{0.00 ~ 282 144.55|3m%*x#B2 5 = Kad = = —| 100kN/mM%#2Z % 1.00{ 11.05 ~ 35.50 144.55|3m%x{B2 5 =l ~ - - =
ZHnLs 1.00] 2.82 ~ 10.60 100.00f Z=hkl4t+ | 0.00 ~ 10.60] 2.95 14.91 s 1.00f 500 ~ 11.05 100.00f Zhkl4t | 5.00 ~ 3550 2.95 14.91
6 100kN/m##8% % 1.00{0.00 ~ 2.65 141.66| 3m%x#B2 5 = Kad = = —| 100kN/mM%#2Z % 1.00{ 11.28 ~ 35.30 141.66| 3m%x{B25 =l ~ - - =
s 1.00] 2.65 ~ 10.43 100.00f Z=hlst |1 0.00 ~ 10.43] 2.91 14.73 s 1.00f 500 ~ 11.28 100.00| =hl4+ | 5.00 ~ 3530 2.91 14.73
7 100kN/m##8 %% 1.00{ 0.00 ~ 2.67 142.05| 3m%*x#B2 5 = Kad = = —| 100kN/mM%#2Z % 1.00{ 11.25 ~ 35.50 142.05| 3m%x{B25 =l ~ - - =
s 1.00] 2.67 ~ 10.46 100.00f Z=hkist | 0.00 ~ 10.46] 2.92 14.75 s 1.00f 500 ~ 11.25 100.00| =hil4t | 5.00 ~ 3550 2.92 14.75
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
ZFhst ~ st ~ FhLst ~ ZhnLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ IMEBZD ~
ZFhst ~ ZFhLst ~ st ~ ZhnLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ IMEBZD ~
Fhst ~ st ~ st ~ ZhnLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ IMEEBZD ~
Fhst ~ st ~ st ~ ZhnLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
Fhst ~ FhLst ~ st ~ ZhnLst ~
100kN/mM%#BZ 5 ~ ImEBAD ~ 100kN/mM%#8% % ~ ImEEBZD ~
Fhst ~ FhLst ~ FhLst ~ ZhnLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ IMEBZD ~
Fhst ~ FhLst ~ ZFhLst ~ ZhnLst ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ IMEBZD ~
Fhst ~ FhLst ~ FhLst ~ ZhnLst ~
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